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Error in efficiency code caused enhancement




=
=100

80

60

40

20

\!/Asu

K*Kn" without ¢ 7¥ cut

=10

: +

N Efficiency issue fixed

- +

L s

) +

Ao Thygg 41
M e+

— I1.|25I 1.|3I 1..|_"!-5I 1.|4I | I1.t|15I — I1.5

Mass(K 'K =")/GeV




K*Kn" without ¢ 7 cut

Yie




K*Kn" without ¢ 7 cut

w
=100

80

60

40

III|III|I\I|III|
o
+
&

+
4
¢

20

-

0 o b e b e e by
1.25 1.3 1.35 1.4

1
Mass(K " K=%)/GeV

\!/Asu

.45 1.5

60000

50000

40000

30000

20000

10000

_|-|_||

i J-0 PDG: 1(1295) = 1294 /-4

center = 1291.03 +/- 2.27

width = 47.49 +/- 2.32
PDG: 1n(1295)= 55 +/-5

B
fabitt,

e e ey S T TS

1.25

1.3 1.35 1.4 1.45 1.5

Mass(K " K=%)/GeV

10




K*Kn" without ¢ 7 cut

- +++
6{]:— + ++

B 4
40:? -*— _+1+-

- +F 4 }
2o ¥ ¥ +

o T,
0_ I IL;SI — “3 — IL;S‘ — “4 E— L5I =

\!/Asu

1. 1.5
Mass(K " K=%)/GeV

60000

50000

40000

30000

20000

10000

T~

- enter = 1201.03 +/- 2.27
i =0 G: 1(1295) = 1294  +/-4

width = 47.49 +/- 2.32
+ PDG: 1n(1295)= 55 +/-5

B

—.-I_.|....|...|‘...|"++._H‘| '+

==

1
Mass(K " K=%)/GeV

Center within PDG value

1
.45 1.5

11




K*Kn" without ¢ 7¥ cut

=10
5 100— c center = 1291.03 +/- 2.27
- ++ soo0o— [l J=0 .
s 500001 width = 47.49 +/- 2.32
B + - DG: 1(1295)= 55 +/-5
L 40000]—
60— + -+ - ‘\‘
i 4 30000— i
40— i
B + ++ 20000—
i + l ri]l- ...l.. N
20— + +++ + -
- ++ 10000
X 4 Lt i
0_||| L | | T R R 0_|-|_||||||||||||\||||__|—|—|||ﬂ_|||‘:7|-|—|
1.25 13 1.35 14 1.45 15 1.25 13 1.35 14 1.45 15
Mass(K " K=%)/GeV Mass(K " K=%)/GeV

Center within PDG value
Width within 1.08¢ of PDG

\!/Asu

12




K*Kn" without ¢ 7 cut

w
=100

80

60

40

20

0 1

-

ty
+
Wt
%
h*q
s

e

1.25 1.3 1.35 1.4 1.45 1.5
Mass(K " K=%)/GeV

Center within PDG value

ASU

60000

50000

40000

30000

20000

10000

(=]

70000

60000

50000

40000

30000

20000

10000

- center = 1291.03 +/- 2.27
i -0 PDG: 1(1295) = 1294  +/- 4

width = 47.49 +/- 2.32
+ PDG: 1n(1295)= 55 +/-5

C -I— LT l +
I I T T R SR T IR SRS | = =1 il N e = S
1.25 1.3 1.35 1.4 1.45 1.5

Mass(K " K=%)/GeV

/ \
g center = 1285.46 +/- 4.22
- B J=1 DG: f,(1285) = 1281.9 +/- 0.5
;_ wi =33.70 +/- 14.26
- PDG: (1285) = 22.7 +/- 1.1
E 1 1 | 1 1 1 1 | 1 1 1 1 | Il 1 1 1 | 1 1 1 1 | 1 1 1 1
1.25 1.3 1.35 1.4 1.45 1.5

13




K*Kn" without ¢ 7 cut

x10
5 100— c - center = 1291.03 +/- 2.27
- +++ so0oor [l 4=0 PDG: n(1295) = 1294  +/-4
80| 500001 width = 47.49 +/- 2.32
B + - PDG: 1n(1295)= 55 +/-5
- 40000—
60— + -+ - ‘\‘
i 4 30000— i
40— i
B + ++ 20000—
i + l ri]l- ...l.. N
20— + +++ + -
- ++ 10000
X 4 Lt i
0_||| | L1 | | T R R 0_|-|_||||||||||||\||||__|—|—|||ﬂ_|||‘:7|-|—|
1.25 13 1.35 14 1.45 15 1.25 13 1.35 14 1.45 15
Mass(K " K=%)/GeV Mass(K " K=%)/GeV

center = 1285.46 +/- 4.22

70000 - 0.5

J=1 PDG: f

60000

Center within PDG value
Width within 1o of PDG

30000

width = 33.70 +/- 14.26
DG: 1(1285) = 22.7 +/- 1.1

20000

10000

0 1 1 | 1 1 1 1 | 1 1 1 1 | | 1 1 1 | 1 1 1 1 | 1 1 1 1
Asu 1.25 1.3 1.35 1.4 1.45 1.5

14




w
=100

80

60

40

20

w
=100

80

60

40

20

K*Kn" without ¢ 7 cut

- +++
i +
-t 4
C +-
-+ 4
- Frpd 4
IR N SO SR SN NN SATRRTIN RN SR R
1.25 1.3 1.35 1.4 M;s-:?K*K'xO);’Ge:{-S

- "l" =0
B + + J=1
E A T | h ._._ "*"'J':ﬁ‘"'“__ i ) '_"_' -|T|-
=i-ﬂ~4 | N = [ ! _'TI-,-'H—-'--"'I.I"'_J'_,..L " —“-.
o M It

o o IR S T NSRS M I Ao =

1.25 1.3

1.35

1.4

1.45 1.5
Mass(K " K=%)/GeV

60000

50000

40000

30000

20000

10000

(=]

70000

60000

50000

40000

30000

20000

10000

center = 1291.03 +/- 2.27

1.5

— =0 PDG: 1(1295) = 1294  +/- 4
- width = 47.49 +/- 2.32
- + PDG: 1n(1295)= 55 +/-5
C -I— LT l +
P A TR SN T NN SO R ST S N NN S N A = A A N e =
1.25 1.3 1.35 1.4 1.45
Mass(K " K=%)/GeV
£ center = 1285.46 +/- 4.22
- J=1 PDG: f,(1285) = 1281.9 +/- 0.5
- width = 33.70 +/- 14.26
- PDG: {,(1285) = 22.7 +/- 1.1
E 1 1 | 1 1 1 1 | 1 1 1 1 | Il 1 1 1 | 1 1 1 1 | 1 1 1 1
1.25 1.3 1.35 1.4 1.45

1.5

15




\!/Asu

Title




	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15
	Slide Number 16

